Potencias de 10 (I)

Calcule los siguientes productos y cocientes.

45 =10

35+10

49 x 10

35 x 10

14+-10

46 < 10

3x10

66 x 10

50 x 10

69 x 10

82+10

25 x 10

41 +-10

3+10

3310

2010

78 x 10

69 =10

33 x 10

72 % 10
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Potencias de 10 (I) Respuestas

Calcule los siguientes productos y cocientes.

45 =10
4,5
35+10
3,5
49 x 10
490

35x10
350
1410
1,4
46 x 10
460

3x10
30

66 x 10
660

50 x 10
500

69 x 10
690

8210
8,2
25 x 10
250
41 =10
4,1
3+-10
0,3
3310
3,3

2010

78 x 10
780
69+ 10
6,9
33 x 10
330

72 %< 10
720
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